x=V10% + 242 =26

0 x =26
10
24
hg= PP _24_12 g= 1P _26_13
M= hyp 26 13 CSCU=opp =24~ 12
g4 _10_ 5 cecg=YP_26_13
hyp 26 13 adj 10 5
_op _24 12 _ad _10_ 5
Bl gy = cot0=75pp =24 =12
x=V11? - 82 =V57
0
o 1
8
g=PP_ 8 g= P _ 11
sin e 11 csc opp = %
c050=a—dj=-—\/§_l 9ec€=hyp= - =1N5_7
hyp 11 R adi /57 57
tan 9= 2P _ 8 _ 8Vs7 _adj V57
MT=2d ~ V57 57 ~opp T8







6 5
x=+vMN
_M Vil
cosﬁ—h—yﬁ— 6
opp 5 5V1l
T Y A
hyp 6
csc 0=5pp =3




x=V72+32=V58

x =+/58 7

f

3

(o)
11.)sin g = PP = 7 7V58

0 —
COS hyp ’—58 53
hyp /58
cse @ = opp = 7
g = hyp /58
SeCU=%d 3
adj
cot @ = O—J = %




13.

x=V122 =52 =119

12 x =19
(/)
5
. 9=%=_V“9
Sin yp 12
adj 5
cosO—h—yp—ﬁ
opp 119
e_hyp 12 12V119
SCT=0opp T Ve 119
fg=29 __5 _sv19
= opP ~ 10 119

15.

G
x=V92 - 42 =Ve5

9 x =65
0
4
opp V65
nf=—-=




adj
L o 6= c05:60° m —
adj hyp
_iX, 1_38
V3 = 8 2y
8V3 =x y=16
12
30°
y
19 tan 30° = 2 300 = 2
n adi cos b
VR 08 ¢
3 712 2. oy
4V3 =x y= 8V3
A
35°
b 16
21. C a B
B =90 =35%=55"
sin 35% = _l% cos 35° = —lbg

16(sin 35°) = a

9.18=a

16(cos 35°) = b
13.11 = b




A

65.61 = a

b 24
18°
(7 a
23.14 = 90° — 18° = 72°
o _ a4 1o _ b
cos 18 = sin 18 =2
24(cos 18°) = a 24(sin 18°) = b
2283 = q 742 = p
A
b (4
75°
25. C 15 B
A =90°-75°=15°
tan 75° = % cos 75° = 3
c
—— v D
15(tan 75°) = b €= 05750
5598 = b c= 5796
A
64° ¢
32
c a B
27, B = 90° — 64° = 26°
tan 64° = % cos 64° = %
G 32
32(tan 64°) = a €= o 64°

c=T730




30.

tan 31° = 2=

25 "
25(tan 31°) = h %10
15.02=h 25 ft

The height of the tree is about 15 feet.

31.

; X
sin 25° = —

150
150(sin 25°) = x
63.39 = x

The length of the prop holding open the piano is
about 63.4 cm.

32.

h
36°

138 ft

o N o 138
tan 36° = 138 cos 36° = 7

oy _ 138

138(tan 36°) = h ) o5 36°

100.26 = h I = 170.58

The railway’s height is about 100 feet and its length is

about 171 feet.




